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Sketch the graph of each function.
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DAB—k=A4-2% 2) N2a-25=~la-9
i {16}
3) x—4=A2x+7 4) 9=Ax+8

42



Test Review - In Class Worked Out Solutions.notebook

November 07, 2014

5) 4+Aln-3=13
{84}

Simplify.

7y s\15(W10 +2v/6)
25v6 + 30710

-

6) \3x +2="/4 — 8x
{0}

8) —4\3(4\/5 +/6)

—16715 — 1242

43



Test Review - In Class Worked Out Solutions.notebook

November 07, 2014

9) \343x*

7x? ’\?

11) \/252p

N7p

-3-

10) \/36k

Nk

12) A/ 48m*

4m\"€

44



Test Review - In Class Worked Out Solutions.notebook November 07, 2014

Mne M3
13) 14)
2; 25 5; 48
e 1
5 5
15 V15 16) M6
3; 16 52?
‘\-'I:E 4)\";5
6 3

-4-

45



Test Review - In Class Worked Out Solutions.notebook

November 07, 2014

17) 354 -6 -6

7\-%

-5-

18) 378 +37/8 + 203

1202 +24/3

46



Test Review - In Class Worked Out Solutions.notebook

November 07, 2014

19) y=2Nx+3 +1

L
§

6

et

Sketch the graph of each function.

-6-

1
20) yza x+1+2

47



Test Review - In Class Worked Out Solutions.notebook November 07, 2014

21) y=2Nx+2 -5 22) y=Ndx+8 -2
Ftd Ay
% B /‘J
A ]
/
— . < i
EEEENE = . EIEAENE 2[4 [6[387%
oLt 2
ur 8
-7-

48



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30
	Page 31
	Page 32
	Page 33
	Page 34
	Page 35
	Page 36
	Page 37
	Page 38
	Page 39
	Page 40
	Page 41
	Page 42
	Page 43
	Page 44
	Page 45
	Page 46
	Page 47
	Page 48

